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Intro chl secl1-2 Quiz Qutline

2()‘8 For the points (-l, 3\) and ( 5, -S‘):

(a) Find the distance between them. (Do not round your answer, no decimal,)
i

(b) Find the midpoint of the line segment that joins them. . ) ( -*, +3 )_ ".')\)

—

0() CIfS{‘ =V ('Xz-?(t)z?" <>’J_‘Yt)l

iy 2
= J(@E-0) F (58 @)
VD> L5 = V64 =Jo5

2. Determine which point A(-—}, 2)or B(-}‘;f I) is closer to the origin? (Must“show work for credit.)

bdA O = [T s 2o
. (""‘3)1 " (Z.) 2
S i
Ja g =13
&

3.IfM(2, I) is the midpgint of the line segment AB, and if A has coordinates (~] ,""}), find the coordinates of B.

2 pse

o]

YL( :
Jf 4. Test the equation for symmetry. (x-axis, y-axis, origin, or none.) Must show work the supports your
\f answer or you will earn no credit.

— X-axs -
¥ = (—\/)’1.__ (~\/)

X: y‘f’vl
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5. Find the x- and y-intercepts of the graph of the equation >/ \ / ><. L 7
X'—(n { le =
€ Y ( y —(n€ Ld & X=0

co)z(fx+7 ) Y= Jort 7
— . qul &/’/

—_— ey )

6. Find an equallon ol The circle wnh the center at ( 2’ l ) and a radius of L/
(x{z\) (<) = r
(x=@) " +y ~Q))
@ £~ ) (é
7. Find the center and r’xdms of the circle for the equation of 4_ y ({x + [0Y 4+ 3 <

(XL__,)(’"L‘E@ (waf-@)-- (3 +4 4D,

L“’Z(J‘f (5')—/’-‘;255 ) %/IQT:CTS)
(2" 1—(yf-5)__ 6 =y

8. The endpoints of a diameter ofa circle are P(.-‘ 3) and ¢ Fx '-S) Find thelequatlon of the circle. |

Conter (. d poni) (X~%) 26 -6)= 1

(——1 RN }%:_5) (><~3)+-(y+t)

- ‘5 (=l )+(3+/)
G (=4) A+

(3}'_4) 6 +le o

e 729 [
((x 3) +(w)1...39—j
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Intro chl seel-2 Quiz Outline

'u_)LMH_ E‘S 1l e \‘Mudm" f\d('m Of A
C?‘Ztc qt.on of (. (‘cly 2

1. For the points (-.2, S nml(lo."}): (X "'T) \L >/ F‘) -~ ' T

a) Find the distance between them. (Do not round your answer, no decimal.) b J 2 ( o
o ot el o Ry o5t = S xy2%) $0p~%)

(b) Find the midpoint of the line segment that joins them,
s .= [0 (S~ 63
& 2
NCTEY e —
Jiaqiew /29520
- JE J9 A3 £ L0

2. Determine which point A(—‘f, 2)or B@'. ) is closer to the origin? (Must show work for credit.)
31 "
] 2 g _
A(S'E (A= ER—O) t(2~0)*
( - / 2 b
di'sB)=v (3)"+n
VRS

) is the midpoint ofthe line segment A8, and if 4 has coordinates ( . ) find the coordinates of A.
i

-78

1{ 8+y)\(_ 232
" _p
xly"+><y:1_L—> /ﬁ_

4. Test the equation for symmetry. (x-axis, y-axis, origin, or none.) Must show work the supports your
answer or you will earn no credit.

S;X-—-) (-?C) C)ftff]f»‘f?: >/ )(.\y)
X — (=)

(-.y) C-\/) t(29Ey)=|
y +><y: \
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5. Find the x- and y-intercepts of the graph of the equation

— Xy by = a7 Y0k feewme

2
S TEED ooty
._)%b-—li V= l

Xerd ) Led o=

L

X —XxC) to=]
2
X =
6. Find an equation of the circle with the center at (—3 9 and a radius of S .

H lc I
Oc=630) 0 (0= e 55

[+ (y-8) =28
7. Find the 'C_e-llt_e_l_' and radius of the circle for the equation of !

X -i'y pAX Yy #l =
(X ¢jX+LT7)+(V +y+@)“"“’l+[

(1) =)

8. The endpomts of a diameter of a circle are PL] ( ) and Q( S‘ CT ). Find the equation of the circle.
D - —

M d point cObrTn coill =
Give cente ! (5-2) 4‘(7"5) =

(us L+ ) (35 £y =
- TR A _
q +16 =25,
(.Lt Riq X W
L g
(2 ,5)

LK pro—=i T
| (x-2)"4 W*DEE
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